QUESTIONS ON INTEGRATION

INDEFINITE INTEGRALS

LEVEL – I
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LEVEL – III
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DEFINITE INTEGRALS
LEVEL - I
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LEVEL – II

1. Evaluate the following integral as limit of sum [image: image62.png]Jy (3x + 1)dx




2. [image: image64.png]



3. [image: image66.png]1

fy cos

¢

1wt
T




4. [image: image68.png]1
Jy x(tan™*x)%dx




5. [image: image70.png]10 (14 sinx) (2+sinx)




LEVEL – III
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APPLICATION OF INTEGRATION
1. Find the area of the region {(x,y):0 ≤ y ≤ x2+1, 0 ≤ y ≤ x+1,0 ≤ x ≤ 2} 

2. Find the area of the region[image: image84.png]{(x,y):x? < 4y, 4x* +4y? < 9]




3. Using the method of integration find the area of the triangle ABC, coordinates of whose vertices are A[image: image86.png](—1,1),B(0,5)



 and C[image: image88.png](3,2).




4. Find the area bounded by the curves [image: image90.png]


 and the straight line [image: image92.png]x =4y—2.




5. Find the area of the region included between the parabolas [image: image94.png]
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, where a> 0.

6. Find the  area of the region enclosed between the two curves[image: image98.png]


  and
 [image: image100.png](x—
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7. Compute the area bounded by the lines [image: image102.png]


 and [image: image104.png]2x+y=1.




8. Find the area of the region [image: image106.png]{((,y):x*+y?<1<x+y}




9. Sketch the graph [image: image108.png]y = |x +1].
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What does the value represent on the graph?

10. Draw rough sketch of the graph of curve [image: image112.png]


 and evaluate the area of the region under the above curve and x- axis.

